§ 2. Functions of Fuilte Order

$$\underline{e}_{f}$$
: The order of growth of  $e^{z^{2}}$  is z. (Ex!)

Remarks: Clearly, if f has an order of growth 
$$\leq \beta_1$$
 and  $\beta_1 \leq \beta_2$ ,  
then  $f$  has an order of growth  $\leq \beta_2$ . (Ex!)

• It is easy to see that for 
$$f(z) = e^{z^2}$$
,  $(f_z = z)$   
 $\exists A, B \neq 0$  s.t.  
 $|f(z)| \leq A e^{B(z)^{p_z}}$ ,  $\forall z \in \mathbb{C}$ .  
But, in general, the clefinition of  $f_z$  only implies  
 $\forall \epsilon > 0$ ,  $\exists A, B > 0$  s.t.  
 $|f(z)| \leq A e^{B|z|^{p_z + \epsilon}}$ ,  $\forall z \in \mathbb{C}$ .

$$Pf: If f(0)=0, then$$

$$F(z) = \frac{f(z)}{z^{2}}, where l = order of zero at 0,$$
is an entire function & F(0)to. Then the assumption  $\Rightarrow$ 

$$|F(z)| = \frac{|f(z)|}{|z|^{2}} \text{ is bounded in } ||z| \le 15 \text{ cend}$$

$$(F(z)| \le |f(z)| \le Ae^{B|z|^{p}} \text{ for } ||z|>15$$

Hence F also has an order of gravith  $\leq \beta$ , with the same zeros  $Z_{1}, Z_{2}, \cdots, Z_{k} \neq 0$ , as f. And  $\pi_{f}(r) = \pi_{F}(r) - l$ .

Therefore, we only need to show Thinz, I for entire function  $f(0) \neq 0$ .

If flos=0, then we can apply formula (2) in the previous section:

$$\int_{0}^{R} \pi(r) \frac{dr}{r} = \frac{1}{2\pi} \int_{0}^{2\pi} \log \left[ f(Re^{i\theta}) \right] d\theta - \log \left[ f(r) \right]$$

Take R=zr, we have  $\int_{-\pi}^{2\pi} \pi(t) \frac{dt}{t} \leq \int_{-\pi}^{2\pi} \pi(t) \frac{dt}{t}$  $= \frac{1}{2\pi} \left( \frac{1}{2} \log \left| f(Re^{i\theta}) \right| d\theta - \log \left| f(0) \right| \right)$ Since  $\pi$  is non-decreasing,  $\pi(t) \ge \pi(r) + t \in (\tau, 2r)$ .  $\int_{L} \Pi(t) \frac{dt}{t} \ge \Pi(r) \int_{r}^{2r} \frac{dt}{t} = \pi(r) \log 2$ ۲ م ر => T(1) log Z < ztr S, log (f(Reit)) do - log (f(0)) < log[A e<sup>B(21)]</sup> - log (fro) =  $(Z^{\beta}B)\Gamma^{\beta} + \log \frac{A}{H(0)}$ < CIP for r sufficiently large. (Ex!) for some C>0 This proves part (i),

(so me can see that in gueral, C and has large I needed depends on the function of and p.)

To prove part (ii), we note that there is only faitely many

zeros of f inside 
$$\{|z_k| < |s and \{z^3 \le |z_k| < z^{j+1}\}$$
.

Then 
$$\sum_{|\leq|Z_{h}|\leq 2^{N+1}} \frac{1}{|Z_{h}|^{5}} = \sum_{j=0}^{N} \left( \sum_{2^{j}\leq|Z_{h}|<2^{j+1}} \frac{1}{|Z_{h}|^{5}} \right)$$

$$\leq \sum_{j=0}^{N} \frac{1}{2^{j}s} \# \{Z_{h}: 2^{j} \leq |Z_{h}| < 2^{j+1} \}$$

$$\leq \sum_{j=0}^{N} \frac{1}{2^{j}s} \operatorname{Tr}(2^{j+1})$$

$$= 2^{P}C \sum_{j=0}^{N} \left( \frac{1}{2^{5}P} \right)^{j}$$

$$(since s>p) < 2^{P}C \sum_{j=0}^{N} \left( \frac{1}{2^{5}P} \right)^{j}$$

$$\leq co$$
Letters  $N \rightarrow t co = usuing \# \{|Z_{h}| < 1\} \text{ faite } \Rightarrow$ 

$$\sum_{k=1}^{\infty} \frac{1}{1^{2}k} < c = c + \frac{1}{2^{k}}$$

$$(used absolutely convergence and home the series can be paragraphical. Note: S>P is impriated in the proof.$$

eg1 let 
$$f(z) = \sin \pi z = \frac{e^{i\pi z} - e^{i\pi z}}{z}$$

Then 
$$|f(z)| \leq e^{\pi |z|}$$
,  $\forall z \in \mathbb{C}$ . (Ex!)  
i.e.  $f$  that an order of growth  $\leq 1$ .

On the other hand, if 
$$\exists p > 0$$
, A, B>0 st.  
 $|f(z)| \leq Ae^{Btz|^{p}}$ ,  $\forall z \in \mathbb{C}$ .

Then 
$$\left|\frac{e^{-\pi y} - e^{\pi y}}{z}\right| = |f(iy)| \le A e^{By|^p}$$
  
 $\Rightarrow \qquad |-e^{-2\pi y}| \le ZA e^{(By^p - \pi y)} \quad for \ y>0$ 

If 
$$p < 1$$
, we have  $1 \leq 2A$  lin  $e^{ByP - \pi y} = 0$   
 $y > + c_0$ 

which is a contradiction.

$$\therefore \quad p_s = inf p = 1.$$

Note that the zeros are 
$$n \in \mathbb{Z}$$
, the Thm  $2.1 \Rightarrow$   
 $\sum_{n \neq 0} \frac{1}{|n|^{s}} < \infty \quad fa. \quad s > 1$ .  
But  $\sum_{n \neq 0} \frac{1}{|n|^{s}} diverges \quad fa. \quad s \leq 1$   $\stackrel{\times}{\times}$ 

$$\underbrace{\text{Q}^{2}}_{n=0} = f(z) = \cos z^{\frac{1}{2}} = \sum_{n=0}^{\infty} (-1)^{n} \frac{z^{n}}{(zn)!}$$

Then  $p_s = \frac{1}{2}$  (Ex!)

f thas zeros at  $z_n = \left[ \left( n + \frac{1}{2} \right) \pi \right]^2$ , and

$$\sum_{n \in \mathbb{Z}} \frac{1}{|\mathbb{Z}_n|^s} = \sum_{n \in \mathbb{Z}} \frac{1}{\left[(n + \frac{1}{2})\Pi\right]^{2s}} \int (m \log s) \frac{1}{\sqrt{s}} \frac{s > \frac{1}{2}}{diverse}$$

## <u>\$3 Infinite Products</u>

## 3.1 Generalities

 $\Rightarrow$ 

$$\begin{array}{c} \underbrace{\operatorname{Def}}_{\text{fituen}} & \operatorname{fansment}_{n=1}^{\infty} (a_{n} \in \mathbb{C}), \text{ we say that the} \\ \underbrace{\operatorname{infaite}}_{\text{infaite}} & \operatorname{product}(a_{just}) \\ & \underset{n=1}{\overset{\infty}{\prod}} (l+a_{n}) \\ & \underset{n=1}{\overset{\infty}{\prod}} (l+a_{n}) \\ \underbrace{\operatorname{courosses}}_{n=1}^{\infty} (l+a_{n}) \\ \underbrace{\operatorname{exists}}_{n=1}^{\infty} (l+a_{n}) \\ \underbrace{\operatorname{exists}}_{n=1}^{\infty} (l+a_{n}) \\ \underbrace{\operatorname{exists}}_{n=1}^{\infty} (l+a_{n}) \\ \underbrace{\operatorname{courosses}}_{n=1}^{\infty} (l$$

٦

By the definition of log (Itan), we have for sufficiently large n,  

$$|log(I+a_n)| \leq 2|a_n| \quad for |a_n| \leq \frac{1}{2}$$
i.e. 
$$\sum_{n=1}^{N} |log(I+a_n)| \leq 2 \sum_{n=1}^{N} |a_n|$$

$$\sum_{n>10} \prod_{n=1}^{N} (I+a_n) = e^{\sum_{n=1}^{N} log(I+a_n)} \text{ exists.}$$
In this case, if  $\exists n_0 \text{ s.d.}$ ,  $Ha_{n=0} \circ$ , then  

$$\lim_{n>10} \prod_{n=1}^{N} (I+a_n) = \prod_{n=1}^{N} (I+a_n) \sum_{n>10} \prod_{n>10}^{N} (I+a_n) = 0$$

$$\lim_{n>10} \prod_{n=1}^{N} (I+a_n) = \prod_{n=1}^{N} (I+a_n) \sum_{n>10} \prod_{n>10}^{N} (I+a_n) = 0$$
Since  $\sum_{n=1}^{N} |a_n| < 0$ , if  $|I+a_n \neq 0$ ,  $\forall n$ .  
Then  $\lim_{n \neq 0} \prod_{n=1}^{N} (I+a_n) = e^{\sum_{n=1}^{N} \log (I+a_n)} \neq 0$ 

$$\frac{\operatorname{Prop}{3.2}}{\operatorname{If}} \operatorname{Suppose} \left\{ \operatorname{Fn}(z) \right\} \text{ is a seq. of holo, functions on JC (open)}.$$

$$\operatorname{If} \exists C_n > 0 \quad \operatorname{such} \quad \text{that}$$

$$\int \sum C_n < \infty \quad \operatorname{aud}$$

$$\int |\operatorname{Fn}(z) - 1| \leq C_n, \quad \forall z \in \mathcal{S}_n,$$

$$\operatorname{then} (i) \prod_{n=1}^{\infty} \operatorname{Fn}(z) \quad \operatorname{converges} \underbrace{\operatorname{unifounly}}_{n=1} \text{ in } \mathcal{S}_n \text{ to a}$$

$$\operatorname{holo. function} F(z).$$

$$(ii) \quad \operatorname{If} \quad \operatorname{Fn}(z) \neq 0, \quad \forall z \in \mathcal{S}_n, \quad \text{then}$$

$$\frac{F(z)}{F(z)} = \sum_{n=1}^{\infty} \frac{F_n(z)}{F_n(z)}.$$

$$\begin{split} & \text{Pf}: \quad \text{Write} \quad \text{F}_n(z) = |+a_n(z)| \leq Cn \\ & \text{Then by assumption} \quad |a_n(z)| \leq Cn \\ & \text{and Active} \quad \sum Q_n(z) \quad \text{unifaculty absolute converges on $\Omega$.} \\ & \text{By the same argument, as $N \to +n$,} \\ & \text{G}_N(z) = \prod_{n=1}^N \quad \text{F}_n(z) \longrightarrow \quad \text{F}(z) = e^{\sum_{n=1}^\infty B_2(|+a_n(z)|)} (\text{unifamily }) \\ & \text{wlich that to be follow nplue on $\Omega$.} \quad \text{This proves (i)}. \\ & \text{Fa cil}, (\text{Then 5.3 of Ch 2.}) \\ & \text{G}_N \to \text{F} \quad \text{unifamily} = ) \end{split}$$

By Prop 3,1, the limit 
$$F(z) \neq 0$$
,  $\forall z \in S2$ .  
Hence  $\forall cpt$ . subset  $K \in S2$ ,  $\exists \delta \geq 0$  s.t.  $|G_N(z)| \geq \delta$ .  
 $\therefore \qquad \sum_{N=1}^{N} \frac{F_N(z)}{F_N(z)} = \frac{G_N(z)}{G_N(z)} \rightarrow \frac{F(z)}{F(z)}$  uniformly on  $K$ .  
Since  $K \in S2$  is arbitrary, we have  $\frac{F(z)}{F(z)} = \sum_{n=1}^{\infty} \frac{F_n(z)}{F_n(z)}$ .

$$\frac{\Delta u \Pi z}{\pi} = z \prod_{n=1}^{\infty} \left( \left| -\frac{z^2}{n^2} \right| \right)$$
(3)

$$\operatorname{Tr}(\operatorname{of} \Pi Z = \lim_{N \to +\infty} \sum_{|n| \leq N} \frac{1}{Z + n} = \frac{1}{Z} + \sum_{n=1}^{\infty} \frac{2Z}{Z^2 - n^2} \quad (4)$$

(ii) lui 
$$\sum_{N \neq +\infty} \frac{1}{Z + n}$$
 is the principal value of  $n = -\infty \neq +n$ ,  
other avangement may not converges.

$$\frac{P_{f}}{P_{r}} \frac{1}{(3) by} \frac{(4)}{(4)}.$$
White  $G(z) = \frac{\Delta \tilde{u}_{r} \pi z}{\pi}$ 

$$P(z) = z \prod_{n=1}^{\infty} \left(1 - \frac{z^{2}}{n^{2}}\right)$$

$$P(z) \text{ is well-defined since } \left|\frac{-z^{2}}{n^{2}}\right| = \frac{|z|^{2}}{n^{2}} \leq \frac{R^{2}}{n^{2}}, \forall z \in \{|z| < P\}$$

$$Prop 3.2 \Rightarrow \prod_{n=1}^{\infty} \left(1 - \frac{z^{2}}{n^{2}}\right) \text{ and } houce \quad P(z) \text{ is well-defined}$$

$$m ||z| < R!. \text{ Since } R > 0 \text{ is arbitary } P(z) \text{ is entire }.$$

Again by Prop 3.2, for 
$$Z \in \mathbb{C} \setminus \mathbb{Z}$$
,  

$$\frac{P(Z)}{P(Z)} = \frac{1}{Z} + \sum_{n=1}^{\infty} \frac{Z^{Z}}{Z^{2} - n^{2}} = \operatorname{Tr} \operatorname{cot} \Pi Z \qquad \text{by formula (f)}.$$

Hence 
$$for z \in \mathbb{C} \setminus \mathbb{Z}$$
  

$$\left(\frac{P(z)}{G(z)}\right)' = \frac{P(z)}{G(z)} \left[\frac{P(z)}{P(z)} - \frac{G(z)}{G(z)}\right]$$

$$= \frac{P(z)}{G(z)} \left[\pi(ot \pi z - \frac{\cos \pi z}{(\underline{Au}\pi z)})\right] = 0$$

Since 
$$\mathbb{C}\setminus\mathbb{Z}$$
 is connected,  $P(\mathbb{Z}) = \mathbb{C}\mathbb{G}(\mathbb{Z})$  for some constant C.  
(and clearly extends to whole  $\mathbb{C}$ )

Letting 
$$z \to 0$$
 in  $\frac{P(z)}{z} = C \frac{G(z)}{z} (near, bit \pm 0),$   
i.e.  $\prod_{n=1}^{\infty} (1 - \frac{z^2}{n^2}) = C \frac{\sin \pi z}{\pi z}, we have C=1.$ 

$$\begin{array}{l} F_{z} \circ f \ fumula \ (4) \\ \text{Let} \ F(z) = \pi \ (ot \ \pi z \ . \\ Then \ (i) \ F(z+1) = F(z) \ , \ z \in \mathbb{C} \setminus \mathbb{Z} \\ (ii) \ F(z) = \frac{1}{2} + F_{o}(z) \ , \ \text{where} \ Fo \ analytic \ near \ 0. \\ (iii) \ z = n \in \mathbb{Z} \ are \ simple \ pole \ of \ F(z) \ , \ f(z) \ f(z) \ f(z) \ no \ other \ singularities. \end{array}$$

Note that

$$(f(z) = \lim_{N \to +\infty} \sum_{|n| \le N} \frac{1}{z_{+n}} = \frac{1}{z} + \sum_{n=1}^{\infty} \frac{2z}{z^2 - n^2}$$

clearly satisfies (ii).  
Hund 
$$G(z+1) = \lim_{N \to +\infty} \sum_{|m| \leq N} \frac{1}{Z+1+N}$$
  
 $= \lim_{N \to +\infty} \left[ \frac{1}{Z+1-N} + \frac{1}{Z-N+2} + \dots + \frac{1}{Z+N} + \frac{1}{Z+1+N} \right]$   
 $= \lim_{N \to +\infty} \left[ \left( \sum_{|m| \leq N} \frac{1}{Z+n} \right) - \frac{1}{Z-N} + \frac{1}{Z+1+N} \right]$   
 $= G(Z) \quad as \quad \lim_{N \to +\infty} \frac{1}{Z+1+N} = 0 = \lim_{N \to +\infty} \frac{1}{Z-N}$ .  
This proves G abo satisfies (1).  
Then (i) and (ii) together implies (iii').  
Now consider  $\Delta(z) = F(Z) - G(Z)$ .

Then by (i),  $\Delta(z+1) = \Delta(z)$  (periodic)

By (i) 
$$\Delta(z) = \frac{1}{z} + F_0(z) - \frac{1}{z} - G_0(z)$$
 near  $z=0$   
(where  $G_0(z) = \sum_{n=1}^{\infty} \frac{zz}{z^2 - n^2}$ )  
 $= F_0(z) - G_0(z)$  analytic near  $z=0$   
 $\therefore z=0$  is a variationable singularity of  $\Delta(z)$ .  
Together with (i) and (iii), all  $z=n$  are removable  
cingularities and hence  $\Delta(z)$  is entire.  
If  $z=x+iy$  with  $|x| \le \frac{1}{z}$  and  $|y| > 1$ ,  
Huln  $(ot Tz = \frac{1}{z} \frac{e^{iTz} + e^{-iTz}}{e^{iTz} + e^{iTz}} = \frac{1}{z} \frac{e^{iTy} + iTx}{e^{iTy} + iTx} - e^{iTy} - iTx}$   
 $= \frac{1}{z} \frac{e^{-zTy} + e^{-ziTx}}{e^{-zTy} - e^{-ziTx}}$   
 $\leq \frac{(e^{-zTy} + (\omega zTx)^2 + (\omega zTx)^2)}{(e^{-zTy} - 1)^2}$   $(E_X!)$   
 $\Rightarrow |(ot Tz] \le \frac{1 + e^{-zT}}{1 - e^{-zT}}$  for all  $|y| > 1 \le |x| \le \frac{1}{z}$   
 $\int Son C$ .

-

Now for 
$$G(Z)$$
,  
 $G(Z) = \frac{1}{Z} + \sum_{n=1}^{\infty} \frac{2Z}{Z^2 - n^2}$ 

 $\Rightarrow On \{z = x + iy : |x| \le j \le |y| > 1 \le j,$   $|(f_{1}(z))| \le \frac{1}{|z|} + \sum_{n=1}^{\infty} \left| \frac{zz}{z^{2} - n^{2}} \right|$   $\le 1 + C \sum_{n=1}^{\infty} \frac{|y|}{y^{2} + n^{2}} \quad (Ex!)$ 

By Riemann sum  

$$\sum_{b=1}^{\infty} \frac{|b|}{y^2 + n^2} \leq \int_0^{\infty} \frac{|y|}{y^2 + x^2} dx$$

$$= \int_0^{\infty} \frac{|y|}{y^2 + y^2 + x^2} |y| dt$$

$$= \int_0^{\infty} \frac{dt}{1 + x^2} = B$$

 $\Rightarrow |\{\xi|z\}| \text{ is also bounded } n \{z=x+iy: |x|\leq z \leq |y|>1\}$  $\therefore |\Delta(z)| \text{ is bounded } n \{z=x+iy=|x|\leq z \leq |y|>1\}$ Since  $\Delta(z)$  is entire, it is bounded on  $\{z=x+iy=|x|\leq z \leq |y|\leq 1\}$ 

Togetter we have  $|\Delta(z)|$  is bounded on  $\{z=x+iy=|x|\leq \frac{1}{2}\}$ Then by periodicity  $\Delta(z+1) = \Delta(z)$ , we canclude that  $\Delta(z) \text{ is bounded on } \mathbb{C}.$ Hence Liouville's Thm  $\Rightarrow \Delta(z) = \text{constant} = c$ Finally  $c = \Delta(-z) = F(-z) - G(-z)$   $= \pi(ot(-\pi z) - \left[\frac{1}{-z} + \sum_{n=1}^{\infty} \frac{z(-z)}{(-z)^2 - n^2}\right]$   $= -\left[\pi(ot\pi z - \left(\frac{1}{z} + \sum_{n=1}^{\infty} \frac{z^2}{z^2 - n^2}\right)\right]$   $= -\Delta(z) = -c$ 

$$\implies \pi(0 \pi z = \frac{1}{z} + \sum_{n=1}^{\infty} \frac{2z}{z^2 - n^2} \quad X$$